R.N. RATH^{*} AND L.N. PADHY

NECESSARY AND SUFFICIENT CONDITIONS FOR OSCILLATION OF SOLUTIONS OF A FIRST ORDER FORCED NONLINEAR DIFFERENCE EQUATION WITH SEVERAL DELAYS

ABSTRACT: In this paper necessary and sufficient conditions have been obtained so that every solution of the Neutral Delay Difference Equation (NDDE)

$$\Delta\left(y_n + \sum_{j=1}^k p_j \, y_{n-m_j}\right) + q_n \, G\left(y_{n-r}\right) = f_n$$

oscillates or tends to zero as $n \to \infty$ for different ranges of $\sum_{j=1}^{\kappa} p_j$. This paper improves and generalizes some recent work [2, 6, 8].

The results of this paper hold for linear, sublinear and superlinear equations and also for homogeneous equations, i.e. when $f_n \equiv 0$.

KEY WORDS: oscillation, non-oscillation, asymptotic behaviour, neutral difference equations.

1. Introduction

In this paper, the authors have obtained necessary and sufficient conditions so that every solution $y = \{y_n\}$ of the first order difference equation

(E)
$$\Delta\left(y_n + \sum_{j=1}^k p_j y_{n-m_j}\right) + q_n G(y_{n-r}) = f_n$$

oscillates or tends to zero as $n \to \infty$ for various ranges of $\sum_{j=1}^{k} P_j$, where each p_j is a scalar, Δ is the forward difference operator $\Delta x_n = x_{n+1} - x_n$, $G \in C(R, R)$, G is non-decreasing and $x \ G(x) > 0$ for $x \neq 0$, $q_n \ge 0$, f_n are real numbers (n = 0, 1, 2, ...), m_j for j = 1, 2, ..., k and r are non negative integers. We further assume the following conditions for its use in the sequel.

- (H1) There exists a sequence $\{F_n\}$ such that and $\lim_{n \to \infty} F_n = 0$ and $\Delta F_n = f_n$.
- (H2) Let G satisfy Lipschitz condition in the intervals of the type [a, b], 0 < a < b.

(H3)
$$\sum_{n=0}^{\infty} q_n = \infty.$$

The following ranges for p_j (j = 1, 2, ..., k) are considered in this work.

- (A1) $-1 < \sum_{\substack{j=1\\k}}^{k} p_j \le 0$, where each $p_j \le 0$
- (A2) $0 \leq \sum_{j=1}^{k} p_j < 1$, where each $p_j \geq 0$
- (A3) $\sum_{j=1}^{k} p_j > 1$, where each $p_j > 0$ and $p_i > 1 + \sum_{j \neq 1} p_j$ for some $i \in \{1, 2, 3, ..., k\}$

(A4)
$$\sum_{j=1}^{n} p_j < -1$$
, where each $p_j < 0$ and $p_i < -1 + \sum_{j \neq 1} p_j$ for some $i \in \{1, 2, 3, ..., k\}$

Our results also hold for the equation

(1)
$$\Delta\left(y_{n} + \sum_{j=1}^{k} p_{j} y_{n-m_{j}}\right) + \sum_{j=1}^{s} q_{n}^{j} G\left(y_{n-r_{j}}\right) = f_{n}$$

under the assumption

(2)
$$\sum_{n=0}^{\infty} \left(\sum_{j=1}^{k} q_n^j \right) = \infty$$

in place of (H₃), where r_j are nonnegative integers for j = 1, 2, ..., s, $\{q_n^j\}$ are infinite sequences of positive real numbers for each j and other symbols are as defined in (E).

In recent years many authors (see [6], [8], [9]) have taken active interest in studying oscillatory behaviour of solutions of NDDEs. But in the literature few results are available regarding the oscillation criteria for solutions of neutral difference equations with several delays. In a recent paper [6] the authors have obtained the oscillation criteria for the solutions of

(3)
$$\Delta \left(y_n + p \, y_{n-m} \right) + q_n \, G \left(y_{n-r} \right) = f_n.$$

One may easily verify that, the technique used in [6] also works if we attempt to study the same problem for the equation

(4)
$$\Delta (y_n + p y_{n-m}) + \sum_{j=1}^s q_n^j G(y_{n-r_j}) = f_n,$$

under primary assumptions (2) in place of (H_3) . But interestingly, the technique adopted in [6], fails, when one attempts to study the same problem for (E). Thus the bottom line is if the several delay terms are taken under the difference operator, then one may face the real difficulty. This motivated the author for the present work. Further Lemma 2.1 was repeatedly used to get the results in [6], which is the discrete analogue of Lemma 1.5.1 in [3]. The notes 1.8 given in [3, p.31] suggests to extend the Lemma 1.5.1 for application to neutral equations with several delays. But it seems difficult to extend the Lemmas as suggested in [3]. Hence the author became more interested to study the present problem for (E).

We may view (E) as the discrete analogue of the neutral delay differential equation

(F)
$$\left(y(t) + \sum_{j=1}^{k} p_j y(t - \tau_j) \right)' + q(t) G(y(t - \sigma)) = f(t)$$

about which not much is found in the literature. It is well known that oscillation behaviour of delay differential equation and their discrete analogues can be quite different ([11]). In [10] Yu and Wang have discussed oscillation of solutions of first order neutral difference equation

(5)
$$\Delta (y_n - p y_{n-m}) + q_n y_{n-k} = 0, \qquad n = 0, 1, 2, \dots$$

for p = 1 and p = -1. In [2], Georgiou et al have studied the oscillatory and asymptotic behaviour of solutions of Eq.(5).

The results of this paper generalizes many work done for delay difference equations and NDDEs because our G can be linear, sublinear or superlinear and f_n could be zero (see Corollary 2.3 and Remark 2).

Let $\ell = \max(r, m_1, m_2, ..., m_k)$. By a solution of Eq.(E) on $[0, \infty)$ we mean a sequence $\{y_n\}$ of real numbers which is defined for $n \ge -\ell$ and which satisfies (E) (for n = 0, 1, 2, ...). A solution $\{y_n\}$ of (E) on $[0, \infty)$ is said to be oscillatory if for every positive integer N > 0 there exists $n \ge N$ such that $y_n y_{n+1} \le 0$, otherwise, $\{y_n\}$ is said to be nonoscillatory.

2. Main results

In all our results in this section though we do not mention exclusively, we assume $G \in C(R, R)$, G is nondecreasing and x G(x) > 0 for $x \neq 0$.

Theorem 2.1. Suppose that (H_1) holds and that $\sum_{j=1}^{k} p_j$ be in the range (A_1) . Then every solution of (E) is oscillatory or tends to zero as $n \to \infty$ if and only if (H_3) holds.

Proof. Let us first prove that (H₃) is sufficient. Suppose that (H₃) holds and $\{y_n\}$ be a non-oscillatory solution of (E) for $n \ge N_0$. Setting

(6)
$$z_n = y_n + \sum_{j=1}^k p_j y_{n-m_j}$$

and

(7)
$$w_n = z_n - F_n$$

we obtain from (E)

(8)
$$\Delta w_n = -q_n G\left(y_{n-r}\right).$$

If $y_n > 0$ for $n \ge N_0$ then $\Delta w_n \le 0$, which implies $w_n > 0$ or $w_n < 0$ for $n > N_1 \ge N_0 + \ell$. In both the cases we claim that $\{y_n\}$ is bounded. If not then there exists a subsequence $\{y_{n_i}\}$ such that $n_i \to \infty$ and $y_{n_i} \to \infty$ as $i \to \infty$ and $y_{n_i} = \max\{y_n : N_1 \le n \le n_i\}$. We may choose n_i large enough such that $n_i - \ell > N_1$. Hence

$$w_{n_i} = y_{n_i} + \sum_{j=1}^k p_j \, y_{n_i - m_j} - F_{n_i} \ge \left(1 + \sum_{j=1}^k p_j\right) y_{n_i} - F_{n_i}$$

implies that $w_{n_i} \to \infty$ as $i \to \infty$ by (H₁), a contradiction because $\{w_n\}$ is non increasing. Hence our claim holds and as a consequence $\liminf_{n\to\infty} y_n$, $\limsup_{n\to\infty} y_n$ and $\lim_{n\to\infty} w_n$ and exists. If $\liminf_{n\to\infty} y_n > 0$, then $y_n > \beta > 0$ for $n > N_2 > N_1$. Hence

(9)
$$\sum_{n=N_2+r}^{\infty} q_n G(y_{n-r}) > G(\beta) \sum_{n=N_2+r}^{\infty} q_n = \infty$$

and from (8) we obtain

$$\sum_{n=N_2+r}^{M-1} q_n G(y_{n-r}) = -\sum_{n=N_2+r}^{M-1} \Delta w_n = w_{N_2+r} - w_M.$$

If we take limit $M \to \infty$, it follows that

(10)
$$\sum_{n=N_2+r}^{\infty} q_n G(y_{n-r}) < \infty,$$

a contradiction to (9). Thus $\liminf_{n\to\infty} y_n = 0$. Since $\lim_{n\to\infty} w_n$ exists then from (H₁) and (7) it follows that there exists $\delta \in R$ such that $\lim_{n\to\infty} z_n = \delta$. If $\delta > 0$, then

$$0 < \delta = \lim_{n \to \infty} z_n = \liminf_{n \to \infty} \left(y_n + \sum_{j=1}^k p_j y_{n-m_j} \right)$$
$$\leq \liminf_{n \to \infty} y_n + \limsup_{n \to \infty} \left(\sum_{j=1}^k p_j y_{n-m_j} \right)$$
$$\leq \sum_{j=1}^k \limsup_{n \to \infty} p_j y_{n-m_j} = \sum_{j=1}^k p_j \liminf_{n \to \infty} y_{n-m_j} = 0,$$

a contradiction. If $\delta \leq 0$ then

$$0 \ge \delta = \lim_{n \to \infty} z_n = \limsup_{n \to \infty} \left(y_n + \sum_{j=1}^k p_j y_{n-m_j} \right)$$
$$\ge \limsup_{n \to \infty} y_n + \liminf_{n \to \infty} \left(\sum_{j=1}^k p_j y_{n-m_j} \right)$$
$$\ge \limsup_{n \to \infty} y_n + \sum_{j=1}^k \liminf_{n \to \infty} p_j y_{n-m_j}$$
$$\ge \left(\limsup_{n \to \infty} y_n\right) \left(1 + \sum_{j=1}^k p_j \right).$$

Hence $\limsup_{n\to\infty}y_n\leq 0$ by (A₁), which gives $\lim_{n\to\infty}y_n=0$. If $y_n<0$ for large n, then we proceed as above and prove $\lim_{n\to\infty}y_n=0$. Thus the sufficiency part of the theorem is proved.

In order to prove that the condition (H_3) is necessary we assume that

(11)
$$\sum_{n=0}^{\infty} q_n < \infty \,,$$

and show that (E) admits a positive solution which does not tend to zero as $n \to \infty$, when the limit exists. It is possible to choose an integer N > 0 such that for $n \ge N$,

(12)
$$G(1)\sum_{j=n}^{\infty} q_j < \frac{1}{10}\left(1+\sum_{j=1}^{k} p_j\right) \text{ for } |F_n| < \frac{1}{10}\left(1+\sum_{j=1}^{k} p_j\right)$$

Let $X = \ell_{\infty}^N$, the set of all real bounded sequences $x = \{x_n\}, n \ge N$. For $x \in X$, we define $||x|| = \sup\{|x_n| : n \ge N\}$. Clearly X is a Banach space with respect to the above norm. Let $K = \{x \in X : x_n \ge 0 \text{ for } n \ge N\}$. For $x, y \in X$, we define $x \le y$ if and only if $y - x \in K$. Thus X is a partially ordered Banach space.

Let

$$W = \left\{ x \in X : \frac{1}{10} \left(1 + \sum_{j=1}^{k} p_j \right) \le x_n \le 1, \ n \ge N \right\} .$$

If $x^0 = \{x_n^0\}$ where $x_n^0 = \frac{1}{10} \left(1 + \sum_{j=1}^k p_j\right)$ for $n \ge N$, then $x^0 \in W$ and $x^0 = \inf W$. Further, let $\phi \subset W^* \subset W$. Then

$$W^* = \left\{ x \in X : \alpha \le x_n \le \beta, \ n \ge N, \ \alpha \ge \frac{1}{10} \left(1 + \sum_{j=1}^k p_j \right) \text{ and } \beta \le 1 \right\}.$$

If $x^* = \{x_n^*\}$, where $x_n^* = 1$ for $n \ge N$, then $x^* = \sup W^*$ and $x^* \in W$. For $y \in W$, define

$$(Ty)_n = \begin{cases} (Ty)_{N+\ell}, & N \le n \le N+\ell, \\ -\sum_{j=1}^k p_j y_{n-m_j} + \sum_{j=n}^\infty q_j G(y_{j-r}) \\ & +F_n + \frac{1}{5} \left(1 + \sum_{j=1}^k p_j\right), & n \ge N+\ell \end{cases}$$

Hence for $n \geq N$,

$$(Ty)_n \leq -\sum_{j=1}^k p_j + \frac{1}{5} \left(1 + \sum_{j=1}^k p_j \right) + \frac{1}{5} \left(1 + \sum_{j=1}^k p_j \right)$$
$$= \frac{1}{5} \left(2 - 3 \sum_{j=1}^k p_j \right) < 1$$

and

$$(Ty)_n \le -\frac{1}{10} \left(1 + \sum_{j=1}^k p_j \right) + \frac{1}{5} \left(1 + \sum_{j=1}^k p_j \right) = \frac{1}{10} \left(1 + \sum_{j=1}^k p_j \right)$$

by (12). Hence $T: W \to W$. Further, for $x, y \in W$ with $x \leq y$, we have $Tx \leq Ty$. Hence T has a fixed point in W by Knaster-Tarski fixed point theorem (see [3, p.30]), which is the required positive solution of (E). Hence the theorem is completely proved.

Remark 1.
$$(H_1) \iff \left|\sum_{n=0}^{\infty} f_n\right| < \infty$$

Example 1. From Theorem 1. it follows that every non-oscillatory solutions of

$$\Delta\left(y_n - \frac{1}{2}y_{n-1} - \frac{1}{3}y_{n-2}\right) + (y_{n-1})^3 = e^{-3n+3} + \frac{1}{e^{n+1}}\left(1 + \frac{e^3}{3} + \frac{e^2}{6} - \frac{3e}{2}\right)$$

tends to zero as $n \to \infty$. In particular $y = \{e^{-n}\}$ is such a solution of this equation.

Example 2. The equation

$$\Delta\left(y_n + \sum_{j=1}^3 2^{-j} y_{n-3_j}\right) + \frac{1}{n^2} G\left(y_{n-2}\right) = \frac{G(1)}{n^2}$$

has a positive solution $y = \{y_n\}$ where $y_n = 1$ for every n. Here $q_n = \frac{1}{n^2}$ and $f_n = \frac{G(1)}{n^2}$ satisfies the conditions of the theorem. This illustrates the necessary part of Theorem 1.

Theorem 2.2. Let $\sum_{j=1}^{k} p_j$ be in the range (A₂). Suppose that (H₁) holds. Then (i). (H₃) holds implies every solution of (E) oscillates or tends to zero

Then (i). (H₃) holds implies every solution of (E) oscillates or tends to zero as $n \to \infty$. (ii). Every solution of (E) oscillates or tends to zero as $n \to \infty$ such that (H₂) holds, implies (H₃) holds.

Proof. Let us prove (i). Suppose (H₃) holds and $\{y_n\}$ be an ultimately positive solution of (E) for large n. Then setting z_n and w_n as in (6) and (7) we get (8), which implies $w_n > 0$ or $w_n < 0$ for $n \ge N_1$. We prove $\{y_n\}$ is bounded and $\liminf_{n\to\infty}$ as in the proof of Theorem 1. If $w_n > 0$ then $\lim_{n\to\infty} w_n$ exists. Hence from (H₁) and (7) it follows that $\lim_{n\to\infty} z_n = \delta \in R$. As $z_n \ge 0$, so $\delta \ge 0$. We claim $\delta = 0$, if not then $\delta > 0$, which implies

$$\delta = \lim_{n \to \infty} z_n = \liminf_{n \to \infty} \left(y_n + \sum_{j=1}^k p_j y_{n-m_j} \right)$$
$$\leq \liminf_{n \to \infty} y_n + \limsup_{n \to \infty} \sum_{j=1}^k \left(p_j y_{n-m_j} \right)$$

$$\leq \sum_{j=1}^{k} p_j \limsup_{n \to \infty} y_{n-m_j} = \left(\sum_{j=1}^{k} p_j\right) \alpha,$$

where $\alpha = \limsup_{n \to \infty} y_n$. Hence we get

(13)
$$\alpha \ge \frac{\delta}{\sum_{j=1}^{k} p_j} > \delta.$$

Again

$$\delta = \limsup_{n \to \infty} z_n = \limsup_{n \to \infty} \left(y_n + \sum_{j=1}^k p_j y_{n-m_j} \right)$$

$$\geq \limsup_{n \to \infty} y_n + \liminf_{n \to \infty} \left(\sum_{j=1}^k p_j y_{n-m_j} \right)$$

$$\geq \alpha + \sum_{j=1}^k p_j \liminf_{n \to \infty} \left(p_j y_{n-m_j} \right) \geq \alpha + \sum_{j=1}^k p_j \left(\liminf_{n \to \infty} y_{n-m_j} \right) = \alpha,$$

a contradiction due to the inequality (13). Hence we conclude $\delta = 0$ and from $z_n > y_n$, it follows that $\limsup_{n \to \infty} y_n \leq 0$. Hence $\lim_{n \to \infty} y_n = 0$. Further if $w_n < 0$ then either $\lim_{n \to \infty} w_n = -\infty$ or $\lim_{n \to \infty} w_n = \delta < 0$. But in both the cases $\lim_{n \to \infty} z_n = \delta < 0$, which is a contradiction because $z_n > 0$ for large n. The proof for the case $y_n < 0$ for large n is similar. Hence (i) is proved.

Next let us prove (ii). Suppose to the contrary that (11) holds. From this and (H₁), we can find a large positive integer N such that for $n \ge N$

$$L\sum_{j=n}^{\infty} q_j < \frac{1}{5} \left(1 - \sum_{j=1}^k p_j \right) \quad \text{and} \quad |F_n| < \frac{1}{10} \left(1 - \sum_{j=1}^k p_j \right)$$
$$L = \max\{G(1), L_1\}, L_1 \text{ is the Lipschitz constant of } G \text{ in } z$$

where $L = \max\{G(1), L_1\}$, L_1 is the Lipschitz constant of G in $\frac{1}{10}[(1 - \sum_{j=1}^{k} p_j), 1]$. Let $X = \ell_{\infty}^N$ and $S = \{x \in X : \frac{1}{10}(1 - \sum_{j=1}^{k} p_j) \le x_n \le 1, n \ge N\}$, S is a complete metric space, where the metric is induced by the norm in X. For $y \in S$, define

$$(Ty)_n = \begin{cases} (Ty)_{N+\ell}, & N \le n \le N+\ell, \\ -\sum_{j=1}^k p_j y_{n-m_j} + \sum_{j=n}^\infty q_j G(y_{j-r}) \\ & +F_n + \frac{1}{5} \left(1 + 4\sum_{j=1}^k p_j\right), & n \ge N+\ell. \end{cases}$$

106

107

Hence for $n \geq N$,

$$(Ty)_n \leq \frac{1}{5} \left(1 - \sum_{j=1}^k p_j \right) + \frac{1}{10} \left(1 - \sum_{j=1}^k p_j \right) + \frac{1}{5} \left(1 + 4 \sum_{j=1}^k p_j \right)$$
$$= \frac{1}{2} \left(1 + \sum_{j=1}^k p_j \right) < 1.$$
$$(Ty)_n \geq -\sum_{j=1}^k p_j + \frac{1}{10} \left(1 - \sum_{j=1}^k p_j \right) + \frac{1}{5} \left(1 + 4 \sum_{j=1}^k p_j \right)$$
$$= \frac{1}{10} \left(1 - \sum_{j=1}^k p_j \right).$$

Hence $T: S \to S$. Further for $u, \nu \in S$

$$\|T u - T \nu\| = \sup \{ |(Tu)_n - (T\nu)_n| : n \ge N \}$$

$$\leq \left(\sum_{j=1}^k p_j + \frac{1}{5} \left(1 - \sum_{j=1}^k p_j \right) \right) \|u - v\|$$

This shows T is a contraction. Hence T has a unique fixed point $y = \{y_n\}$ in S, which is the required positive solution of (E) on $[N + \ell, \infty)$ by Banach contraction principle. Hence the theorem is completely proved.

Corollary 2.3. Theorem 2.1 and 2.2 are true when $p_j = 0$ for every *j*. Hence if (H_1) and (H_3) holds then every solution of the delay difference equation

(D)
$$\Delta y_n + q_n G(y_{n-r}) = f_n$$

oscillates or tends to zero as $n \to \infty$.

Theorem 2.4. Let $\sum_{j=1}^{k} p_j$ be in the range (A₃). Suppose that (H₁) holds.

Then

- (i) (H_3) holds implies that every solution of (E) oscillates or tends to zero as $n \to \infty$,
- (ii) Every solution of (E) oscillates or tends to zero as $n \to \infty$ such that (H_2) holds implies (H_3) holds.

Proof. Let us prove (i) Suppose that (H₃) holds and $y = \{y_n\}$ be an ultimately positive solution of (E). Then setting z_n and w_n as in (6) and (7), we obtain (8), which implies $w_n > 0$ or $w_n < 0$ for $n \ge N_1$. Suppose $w_n > 0$ for $n \ge N_1$ which implies $\lim_{n \to \infty} w_n = \delta \in R$. Using (H₁), we obtain $\lim_{n \to \infty} z_n = \delta \ge 0$. We prove $\{y_n\}$ is bounded and $\liminf_{n \to \infty} y_n = 0$ as in the proof of Theorem 1. Then

(14)
$$\delta = \lim_{n \to \infty} z_n = \liminf_{n \to \infty} \left(y_n + \sum_{j=1}^k p_j y_{n-m_j} \right)$$
$$\leq \limsup_{n \to \infty} \left(y_n + \sum_{j \neq 1} p_j y_{n-m_j} \right) + \liminf_{n \to \infty} p_i y_{n-m_i}$$
$$= \left(1 + \sum_{j \neq 1} p_j \right) \limsup_{n \to \infty} y_n$$

and

(15)
$$\delta = \lim_{n \to \infty} z_n = \limsup_{n \to \infty} \left(y_n + \sum_{j \neq 1}^k p_j y_{n-m_j} \right)$$
$$\geq \liminf_{n \to \infty} y_n + \limsup_{n \to \infty} \left(\sum_{j=1}^k p_j y_{n-m_j} \right)$$
$$\geq \limsup_{n \to \infty} p_i y_{n-m_i} + \liminf_{n \to \infty} \sum_{j \neq i} p_j y_{n-m_j}$$
$$\geq p_i \limsup_{n \to \infty} y_n + \sum_{j \neq i} \liminf_{n \to \infty} p_j y_{n-m_j}$$
$$\geq p_i \limsup_{n \to \infty} y_n.$$

From (14) and (15) we obtain

,

$$\left(1 + \sum_{j \neq i} p_j\right) \limsup_{n \to \infty} y_n \ge p_i \limsup_{n \to \infty} y_n$$

which implies

$$\left(\left(1+\sum_{j\neq i}p_j\right)-p_i\right)\limsup_{n\to\infty}y_n\ge 0$$

Hence by (A₃), we obtain $\lim_{n \to \infty} y_n \leq 0$. Thus we have $\lim_{n \to \infty} y_n = 0$. If $w_n < 0$ then $\lim_{n \to \infty} w_n = -\infty$ or $\lim_{n \to \infty} w_n = \ell < 0$ exists. In both the cases $z_n < 0$ for

large n, a contradiction. We can hold similar arguments for the case $y_n < 0$ for large n. Hence (i) is proved.

Next let us prove (ii) and choose

$$0 < a < p_i - 1 - \sum_{j \neq i} p_j$$

and

$$\lambda > \frac{a\left(1 + \sum_{j=1}^{k} p_j\right)}{\left(p_i - 1 - \sum_{j \neq i} p_j\right)} > 0.$$

 Set

$$H = \frac{(\lambda + a)}{p_i} \quad \text{and} \quad h = \frac{1}{p_i^2} \left(-(\lambda + a) \left(1 + \sum_{j \neq i} p_j \right) - p_i(a - \lambda) \right)$$

we claim h > 0, otherwise

$$-(\lambda+a)\left(1+\sum_{j\neq i}p_j\right) \le p_i(a-\lambda) \quad \Leftrightarrow \quad \lambda \le \frac{a\left(1+\sum_{j=1}^k p_j\right)}{\left(p_i-1-\sum_{j\neq i}p_j\right)}$$

a contradiction. Hence h > 0. Further if $H \le h$ then

$$\frac{(\lambda+a)}{p_i} \le \frac{1}{p_i^2} \left\{ -(\lambda+a) \left(1 + \sum_{j \ne i} p_j \right) - p_i(a-\lambda) \right\}$$
$$\Leftrightarrow 2p_i a \le -(\lambda+a) \left(1 + \sum_{j \ne i} p_j \right),$$

a contradiction. Hence H > h > 0. We may complete the proof by proceeding as in the proof of Theorem 2. and with the following changes

$$L \sum_{j=n}^{\infty} q_j < \frac{a}{2}$$
 and $|F_n| < \frac{a}{2}$ for $n \ge N$,

where $L = \max\{L_1, G(H)\}, L_1$ is the Lipschitz constant of G in [h, H].

Let $X = \ell_{\infty}^{N}$ and $S = \{x \in X : h \le x_n \le H\}$. For $y \in S$, we define

$$(Ty)_{n} = \begin{cases} -\frac{1}{p_{i}}y_{n+m_{i}} - \frac{1}{p_{i}}\sum_{j\neq i}^{n}p_{j}y_{n-m_{j}+m_{i}} + \frac{1}{p_{i}}\sum_{j=n+m_{i}}^{\infty}q_{j}G(y_{j-r}) \times \\ \times \frac{\lambda}{p_{i}} + \frac{1}{p_{i}}F_{n+m_{i}} \text{ for } n \geq N+\ell, \\ (Ty)_{N+\ell}, \qquad N \leq n \leq N+\ell. \end{cases}$$

For $y \in S$,

$$(Ty)_n \leq \frac{\left(L\sum_{j+n+m_j}^{\infty} q_j\right)}{p_i + (\lambda/p_i) + (a/2p_i)} \leq \frac{(a+\lambda)}{p_i} = H\,,$$

and

$$(Ty)_n \ge -\frac{H}{p_i} - \left(\frac{H\sum_{j\neq i} p_j}{p_i}\right) + \frac{\lambda}{p_i} - \frac{a}{2}p_i$$
$$= \frac{1}{p_i^2} \left\{ -(\lambda + a) \left(1 + \sum_{j\neq i} p_j\right) + p_i(\lambda - a) \right\} = h.$$

Hence $T: S \to S$ and for $u, \nu \in S$

$$||Tu - T\nu|| \le \mu ||u - \nu||$$
, where $0 < \mu = \frac{1}{p_i} \left(1 + \frac{a}{2} + \sum_{j \ne i} p_j\right) < 1$.

Hence by Banach contraction principle T has a fixed point, which is the required positive solution.

Example 3. We may note that $y_n = e^n + e^{-n}$ is an unbounded solution of the equation

$$\Delta (y_n - (1+e)y_{n-1}) + (e-1)y_{n-1} = (2e^2 + e^{-1} - 2 - e)e^{-n}, \quad n \ge 0.$$

Here $p = -(1+e) < -1$ and $\sum f_n < \infty$.

The above example is a source of motivation for the next theorem.

Theorem 5. Let $\sum_{j=1}^{k} p_j$ be in the range (A_4) and suppose that (H_1) holds. Then (i) (H_3) holds implies every bounded solution of (E) oscillates or tends to zero as $n \to \infty$ and (ii) every bounded solution of (E) oscillates or tends to zero as $n \to \infty$ such that (H_2) holds implies (H_3) holds. **Proof.** Let if possible $y = \{y_n\}$ be an ultimately positive bounded solution of (E) for $n \ge N_1$. Then setting z_n and w_n as in (6) and (7) we obtain (8), which implies $w_n > 0$ or $w_n < 0$ for $n \ge N_2 \ge N_1$. Then $\lim_{n \to \infty} w_n = \delta \in R$ and by (H₁) $\lim_{n \to \infty} z_n = \delta$. We prove $\liminf_{n \to \infty} y_n = 0$ as in Theorem 2.1. Let $\limsup_{n \to \infty} y_n = \beta$. If $\delta \ge 0$ then

$$0 \leq \delta = \liminf_{n \to \infty} \left(y_n + \sum_{j=1}^k p_j y_{n-m_j} \right)$$

$$\leq \limsup_{n \to \infty} y_n + \liminf_{n \to \infty} \left(\sum_{j=i}^k p_j y_{n-m_j} \right)$$

$$\leq \beta + \liminf_{n \to \infty} p_i y_{n-m_i} + \limsup_{n \to \infty} \sum_{j \neq i} p_j y_{n-m_j}$$

$$\leq \beta + p_i \limsup_{n \to \infty} y_{n-m_i} + \sum_{j \neq i} \limsup_{n \to \infty} p_j y_{n-m_j} \leq (1 + p_i) \beta.$$

Hence $\beta = 0$ as $p_i < 1$, which implies $\lim_{n \to \infty} y_n = 0$. If $\delta < 0$ then we get

(16)
$$\delta = \lim_{n \to \infty} z_n = \liminf_{n \to \infty} \left(y_n + \sum_{j=1}^k p_j y_{n-m_j} \right)$$
$$\leq \limsup_{n \to \infty} y_n + \liminf_{n \to \infty} \left(\sum_{j=i}^k p_j y_{n-m_j} \right)$$
$$\leq (1+p_i) \beta + \sum_{j \neq i} p_j \liminf_{n \to \infty} y_{n-m_j} = (1+p_i) \beta$$

and

(17)
$$\delta = \limsup_{n \to \infty} z_n \ge \liminf_{n \to \infty} y + \limsup_{n \to \infty} \sum_{j=1}^k p_j y_{n-m_j}$$
$$\ge \limsup_{n \to \infty} p_i y_{n-m_i} + \liminf_{n \to \infty} \sum_{j \ne i} p_j y_{n-m_j} \ge \left(\sum_{j \ne i} p_j\right) \beta.$$

From (16) and (17) we obtain

$$\left((1+p_i)-\sum_{j\neq i}p_i\right)\ \beta\geq 0\,.$$

Hence from (A₄) we conclude $\beta \leq 0$. Then $\lim_{n\to\infty} y_n = 0$. Thus (i) is proved. The proof of (ii) is similar to that of Theorem 2.4 (ii), hence is omitted.

Remark 2. In view of Remark 1 all the results in [6] follow as particular cases of our results. It may be noted that the technique used in our results is different from that of [6]. Also the work of this paper generalize some of the results of [2], [8].

Remark 3. The condition imposed on p_i in (A₃) and (A₄) are required for both the necessary and sufficient part of the Theorem 2.4 and Theorem 2.5.

Note. One may easily find example to illustrate all other theorems as we have done for Theorem 2.1.

3. Conclusion

In this section we mainly discuss some of the questions un answered in this paper. If we assume that $\{y_n\}$ is unbounded in Theorem 2.5., then it appears very hard to prove: either all solutions of (E) oscillate or tend to $\pm \infty$. Again for the range where $\sum_{j=1}^{k} p_j = \pm 1$, we do not have any result. We dont find any such result in literature as well. It would also be interesting, if one drops (H_2) and still find a positive solution as in Theorems 2.2, 2.4, 2.5. One may easily find that our results can be extended to neutral difference equations with variable coefficients

$$\Delta\left(y_{n} + \sum_{j=1}^{k} p_{n}^{j} y_{n-m_{j}}\right) + \sum_{j=1}^{s} q_{n}^{j} G\left(y_{n-r_{j}}\right) = f_{n}$$

under the primary assumption (2), to generalize the work in [9].

ACKNOWLEDGEMENT The authors are thankful to the Referee for his helpful suggestions to improve the presentation of the paper.

References

- L.H. ERBE, B.G. ZHANG, Oscillation of discrete analogues of delay equations, Diff. Int. Eqs., 2(3)(1989), 300–309.
- [2] D.A. GEORGIOU, E.A. GROVE, G. LADAS, Oscillation of neutral difference equations with variable coefficients, *Differential Equations: Stability and Control, Marcel Dekker*, (1990), 165–173.
- [3] I. GYORI, G. LADAS, Oscillation Theory of Delay Differential Equations with Applications, Clarendon Press, Oxford, 1991.

- [4] R.E. MICKENS, *Difference Equations*, Van Nostrand Reinhold Company Inc., New York, 1987.
- [5] N. PARHI, R.N. RATH, On oscillation criteria for a forced neutral differential equation, Bull. Inst. Math. Acad. Sinica, 28(2000), 59–70.
- [6] N. PARHI, A.K. TRIPATHY, Oscillation criteria for forced nonlinear neutral delay difference equations of first order, *Differential Equations and Dynamical* systems, 8(2000), 81–97.
- [7] N. PARHI, R.N. RATH, Oscillation criteria for first order neutral differential equations with variable coefficient, J. Math. Anal. Appl., 256(2001), 525–541.
- [8] N. PARHI, Behaviour of solutions of delay-difference equations of first order, *Indian J. Pure. Appl. Math.*, 33(2002), 31–43.
- [9] N. PARHI, A.K. TRIPATHY, Oscillation of forced nonlinear neutral delay-difference equations of first order, *Czech. Math. J.*, (in press).
- [10] J.S. YU, Z.C. WANG, Asymptotic behaviour and oscillation in neutral delay difference equations, *Funk. Ekvec.*, 37(1994), 241–248.
- [11] J.S. YU, B.G. ZHANG, Z.C. WANG, Oscillation of delay difference equations, *Appl. Anal.*, 53(1994), 117–124.

R.N. RATH P.G. DEPARTMENT OF MATHEMATICS KHALLIKOTE (AUTO) COLLEGE BERHAMPUR, 760 001, ORISSA, INDIA; e-mail: radhanathmath@yahoo.co.in

L.N. PADHY DEPARTMENT OF MATHEMATICS K.I.S.T., BHUBANESWAR, ORISSA, INDIA

* Corresponding author.

Received on 08.04.2002 and, in revised from, on 27.05.2003.